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MATHEMATICS — HONOURS
Paper : DSE-B-1.2

(Linear Programming and Game Theory)

Full Marks : 65

proper explanation/justification (one mark for correct answer and one mark
2x10

objective function will be

‘ (i) 9

@iv) 1.

(ii) {(xl,x‘z):xlz +x§ <16}

@iv) {(xl,xz):xl2 +x§ > 16} .

. (ii) two feasible solutions
solutions (iv) no feasible solution.
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(ii) 30
(iv) 25
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[x 5] the value of the game is 5. Then the value of x is

o (i) 1

e @) 5
d, if the optimality condition be satisfied at any iteration and the basis contains
ficial vectors with corresponding artificial variable at zero level, then the solution

(ii) not feasible
| ptimal (iv) feasible but not basic.
1 vellingsalesman problem, the salesman has to visit # cities. Then the number of
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‘  ‘ Unit- I
r any two questions :

k,a different types of lorries 4, B and C have been used to transport 60 tons solid and 35 tons
uid substance. A4 type lorry can carry 7 tons solid and 3 tons liquid. B type lorry can carry 6 tons
#andz tons liquid and C type lorry can carry 3 tons solid and 4 tons liquid. The cost of transport

Rs. 500, Rs. 400 and Rs. 450 per lorry of 4, B, and C type respectively. Formulate the problem
L.P.P. form to find the minimum transport cost. 5

M'jl,‘ x,- I, x3=1 and x, =0 is a feasible solution of the system of equations

le so]utlon to two different basic feasible solutions. 3+2

243

2+3

5+5
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t;y simplex method that the following problem h

as an unbounded optimal solution : 4

Unit - I1I

feasible solution to primal problem and ¥ be any feasible solution to its
n, then prove that CX <b'V, where C and b are respectively the cost vector and
irement vector of the primal problem.

te &_duéi of the L.P.P. given below :

5+5
ptimal solution (if any) of the following L.P.P. :
10
Unit - IV
i 5
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velling salesman problem so as to minimize the cost per cycle :

To
BIER2T354 5
TIRESR6212076 .. 4
RIEGEes 105554
From 3/ 8 7 o 5 3
45 4 10 © 5
DI 2 55758 0 >

function of x and y defined for x € 4 and y € B, 4 and B being two

_' if both max. min.f(x, y) and .min. max. f(x, y) exist, then
x€A yeB yeB xeA

-1 3 2

pure or mixed strategies. Also find the value of the game.
' 5

off matrix and then solve the game problem : S




